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l ..­:­,­­
­­­­­.

­­

­­­­­­­­­
­­­­­­­­­­.

l ­:­65
l :­     
l ­:­  ,   , 

    ,  ,    
l ­:­      
         

l ­:­  
l ­­:­ 30
l ­:­https://hindustanpetroleum.com

­­­­...

­­­­­­­­­­
­­­­­.

l ­:­8
l :­        ,
     

l ­:­ , 
   ,   

l ­:­  
l ­­:­ 29
l ­:­http://www.csircmc.res.in

­­­­...

­­­­­­­­­­
(­­­­­­)­­­­­

­­­­.
l :­     (2 ),

    -   (    )-
,  (    -  
      ),  -  
        - ,
 -    ,    
     -  

l   ,    
       

l ­:­  
l ­­:­ 5
l ­: https://nfsu.ac.in/admission

­­...

8   70    
.    99  
6   . ..
O- - 65 
C- - 18 
H-  - 10 
N- - 3 
Ca- - 1.5 
P- - 1 

8    
 .

8     -
 (65 )

8     -
  (1.5 )

8      
   .

1)   (Lutrous)- 
  

2)   (Sonarity)- 
   

3)  (Malleability)- 
 

4)  (Ductility)-  
5)  (Thermal Conductivity)
6)   (Electrical 

Conductivity)
8    

- 
8    - 

, 
8   - 

, , 
8    - Ag

(  ), Cu, Au, Al
8   , 

   - 
 ()

8   - 
8   - 
8   -   
8 ,     

 .
8 ,   24

 .
8   22  ,

2  /  .
8  = 200 ..
­
1)   
8 + ->  

2Mg+O2 -> 2Mgo
2)­­­(Reaction With Air)
8   ,   

    .
8    
8    / 

,  , 
  .

8      
  , ,   .

8     

  
8    , 

   .    
Bispinal,   
  . :    

­­­.
8 = +
8 = +
8  = ++
3)­­­(Reaction With Water)
8      . 

     .
8 Fe, Al   , Na, K 

   . 
Na, K     .

8 /     
Na, K (Twin metals)

4)­ ­­(Reaction with Acids)
8     

H2   .
5)­ ­
8     

    .
A+Bc -> Ac+B
8       .

  ,   
  .


1) , ,   

 .
2)    

 .
3)      

  . 
     
 ,    
 .

4)    
   .
   , ,
  .

5) Fe   ,
  ,    
  .

6) Fe      .
­­(Uses of non metals)
1)­ :­   .  ,

,  ,  .
8   ,  ,

   ,
 ,   
.

8   = Kno3+C+S
2)­ :­    .

 ,   .
8    .
8    

.
3)­ :­  .
8     , 

  .
8 N, P, K   

.
,­­(Fibers and Plastic)
8   . 

1)   2)  
­ :­- ,  ,

- , 
­:­

, , , 
8   -   

1)   -  , 
2)   - , 
3)       -
, , 

­(Cotton):     
.   ‘’ .

8   ,   
- 

8     - 
8      

 .
8  ,  . 

    .
:­    

.
8  ,   . 

   .

8    .
8     

.
8   

 - 
8     

-  
­­(Artificial Fibers) 
8    .
8        

   .
8  , ,    .
8  -1, - , -  
:­ 1931  .
8  

  .
8    

.     ( )
 .  .

8 /  .
8   .
8     .
8   .  

    
   .

:­   , ,
   .

8  ‘Examethalene’ 
   ‘, ’ 
  .

:­   ,  ,
     , 
,   ,  , 
  .

8   ,   ,  
 .

:­ ,  
8    
8  1911    .

1924    
   .

8 1946   
  .

:­    .
8   . 

.
8  .  .
:­  

(Cellulose)+ NaoH+Cs 2 ->  
:­, ,  

.     
,    
.

:­  /  .
8    1941  

 .
:­    , , , 

,     .
8     .
8 ,  . 

.
:­   ,

 , ,  ,
   

  .
8    .
:­    

  .
8    

 - 
8  +    .
8 Ester    

.
8   -  
8 +-  
8      

     
    
.

8 Dimethyl/Ester  Teripholic 
      Dihydric
Alcohol    
 .

8     
.


8     . 

   -  
 (1862), 

8     
 ,    . 
  ,     ,
 .   
   .  
 .   
 .

8      (Baeke
land)    1907 
(Bakelite)     . 
    .

8  ‘     ’
 .  Carbolic acid
(phenol), Formaldehyde 
  .

8   -    
8   Bakelite     

   .
8 1920     

       
    . 
 1953   .

8   - Calico
8     

 -  
8      

- 
8   (  )  -

  

-

­­­-­­­


.­­,­

58. ­ ­ ­­ ­­
­­­­­­­
­­,­­­­­?
1.  2.  
3. ,      4. 

59. ­­­­­­­
­/­­­­­?
1.  2.  
3.  4.    

60. ­­-­­­­
­­­­­?
1.   2.    
3.     4. 

61.­­­­ ­ ­ 
­­­­­
­­­­.­ ­ 
­?
1.  2.   
3.     
4.   

62. ­­­­­­­
­ ­ ­ ­ 
?
1.   2. 
3.  4. 

63. ­­­­­­­
­­­­­?
1.  2.   
3.  4.  

64. ­ ­ ­ ­­ ­
?
1.  2.  
3.   4.  

65. ­­­­ ­­­­­
?
1. 
2.     
3.       
4.     

66.­­­­­­
­­­­­­­
­­­­­­­
­­?
1.   2. 
3.     4.   

67.­­­‘10­­
’­­­­­­?
1.     , 

   10   
2. ,   
3.  ,      10 

4.    ,   

68. ­­­­­­
­­­­?
1.  2.  
3.  4.  

69. ­­­­­­­­­
­­,­­­­­(­)
­­­­?
1.    -   
2.     -      
  
3. -      (   )
4.  -      

70.­ ­ ­ ­­­
­­?
1.   2.  
3.  4. 

71.­­­­­­­­?
1.   2.  
3.     4. 

72.­­­­­­
­­­?
1.   2.  
3.  4.   

73. ­­­­­?
1.      
2.       
3.   
4.    

74. ­­­­?
1. 1020 2. 1030
3. 1014 4. 1017

75. ­­­­­­­­
‘­­­­­­­’­­­­?
1.    
2.    
3.    
4.   

76. ­­­­­­­­­?
1. 300 2. 200
3. 100 4. 50

77. ­­­­­­­­­

­?
1.     
2.    
3.  4.   

78. ­­­­­­­­­­
­­­­?
1.  2. 
3.   4.  

79. ,­­­­­­­
­­?
1.   2.  
3.  4. 

80. ­­ ­ ­­ ­ 
­?
1.  , 
2.  
3.   
4.    

81.­­­­­­­­­
­­ ­­ ­­ ­
­?
1.   2.  
3.   4.    

82. ­­­­­­
­?
1.     
2.      
3.      
4.  

83. ­­­ ­­ ‘­­­ ’
­­­­?
1.  
2.     
3.      
4.   

84. ­­­­­­­­
?
1.   2.  
3.    4.    

85. ­­­­?

1.     2.  
3.    4.    

86. ­­­­­
?
1.   2. 
3.  4. 

87.­­­­­­­­
­­?
1.  2.  
3.     
4. 

88.­­‘­­’­?
1.      
2.      
3.   
4.     

89.­­­­­‘­­’’
­­­?
1.     
2.        
 
3.     
4.       
       
  

90. ­­­­­­­?
1.  2. 
3.  4.  

91. ­­­­‘­’­­?
1.    2.   
3.     
4.      

92. ­­‘­­’­
­­­­­?
1.   2.    
3.    4.   

93.­­ ­ ­ ­ 
­­?
1.   2.  
3.     4.     

94. ­­?
1.   .  
2.   .  
3.  .   
4.  . 
1) 1-, 2-, 3-, 4-

2) 1-, 2-, 3-, 4-
3) 1-, 2-, 3-, 4-
4) 1-, 2-, 3-, 4-

95.­­­­­­­­­­
­­­­­­­?
1.   
2.   
3.  
4.    

96.­­­­­­?
1.   2. 
3.  4.  

97.­­­­­­ ­ ­
­ ­­­ ‘­­­’­ 
?
1.  2. 
3.   4.    

98.­­­­ ,­­
­­­?
1.   2.  
3.   4. 

99.­­­­­
­?
1.  2.  
3.    4.     

100.­­­­­­­‘­­’­­
­­?
1.    
2.   
3.    
4.        

101.­­­­­­‘­­­­’­‘­
­­’­ ­ ­ ­ 
?
1.  2.  
3.    4.     

102.­ ­­,­ ­­­ ­
­­­­
­­­­­­­­­
­­­­­?
1.   2.    
3.  4.    

103.­­­­­­­
‘­­­’­­­?
1.  2.   
3.   4.    

104.­­­­­­‘­’
­­­­?
1.   2. 
3.      4. 

105.­­­­­­­?
1.    2. 
3.   4.  

106.­­­­­­­?
1. 20 2. 21
3. 23 4. 24

107.­‘­­­’­­­­?
1.     2.     
3.  
4.       

108.­‘­­­’­­­­
­­­?
1.     2.   
3.   4.    

109.­­­­­
­­?
1.    2.    
3.    4.   

110.­­­­­­­
­­?
1.   2.   
3.  4.   

111.­‘­­­­­­­’­­
­­?
1.  2.  
3.  4.  

112.­‘­­’­­­’­
1.           
2.     
   
3. -      
4.       

 
113.­­­­­­­­­
­?
1.    
2.    
3.    
4.      

114.­­­­­
­­­?
1.    2.  
3.   4.   

115.­ .­ ­­ ­­ 
­­­­­.­
­­­­­­?
1.   
2.   
3.    4.   

­

  ...

­

­­­-
­



­­­-
­

­­­
58.3 59.3 60.4 61.3
62.4 63.4 64.1 65.3
66.3 67.1 68.4 69.3
70.3 71.2 72.1 73.1
74.4 75.3 76.1 77.3
78.3 79.4 80.3 81.2
82.2 83.2 84.4 85.2
86.4 87.4 88.1 89.4
90.2 91.4 92.1 93.3
94.3 95.2 96.1 97.3
98.2 99.4 100.3 101.1
102.4 103.1 104.3­ 105.1
106.3 107.3 108.1 109.3
110.1 111.1 112.4­­ 113.1
114.4     115.2

­­‘­­’­­­­­­?


